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Answer1

Factorise completely 8x2 + dxy

LFDCCZX + %)
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Answer 2

Factorise g + 9y - Ty + (> ¥

= gCZ t ch>

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

;=

EXAM PAPERS PRACTICE

Answer 3

Factorise 3e? + 5e gl mPLE %:'}ACC-‘(O'( (CATIAN

e xSe = Q(—?& - 5)
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Answer 4

(a) Simplify 3a x 5b x 2c¢

v v Sx bxxc
= go@plDL
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Answer5

Factorise y? + 27y Q(M CLE %TQ R (CaT( &M

- %mﬁ + (%Y

= u\\(% -i-?,?)
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Answer 6

Factorise x>+ Tx

= DC()(Jr?—)
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Answer?7

Factorise completely 6y* — 9xy

= 2)(5)(6)(3 — ZKZ ar)cwts
= 33(23 '—3>C>J
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Answer 8

Factorise 3x+6

\)

qx>C ¢ $x2

3()(«*7->
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Answer 9

(b) Factorise 3y +6

= Zx& + 3>

- 3(5 —&ZB
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Answer 10

Factorise fully ~ 9x° — 6xy

—

Yxlwrcx>C = Ex2 x-:z_’xj
ZDC@DC- 23)
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Answer1l

Factorise 5y — 15

poni ’;x3 -SFZ
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Answer 12

Factorise @ 6m —9
= szr m — S <
= 3 (ZM - 3)
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Answer13

I R LA e T

Ll %
Zx;cxax3 = Zx--lxp(_x3

S5y 2)

Factorise fully 3x3? — 6xy
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Answer 14

Factorise ully 18ab + 27ab
= B¢ R +@3%4 s ¥ b
= 2,b(6 +9b)
= 2.6(@2 + @3b)

- gm)ﬂ’g(zﬁ»%)
A (T+20)

f
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Answer15

Factorise fully  2x%y + 4xy?

- zw)(’_x}C.w3 —+ Zkszdek’ﬁ

= zxé (DC + 'Z»\»Q

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk



